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NAT Il Physical Science Analytical

Questions

Follow us to the real Pakistan leaving behind the disturbances of civilization. Real
Pakistan is still inhabited by the eagle, the cow, the black deer, and tigers; it is still
spacious, sprawling, and majestic. Experience the freedom and serenity still to be
found in ---—-----—--- .

Q: If lam elected, I will fight for changes effecting the growth and prosperity of the
poor. We will work together to do away with the bureaucratic bogs which have
existed ever since my opponent took office. Every one of you knows what | stand for; |
invite my opponentto ................

Follow us to the real Pakistan leaving behind the disturbances of civilization. Real
Pakistan is still inhabited by the eagle, the cow, the black deer, and tigers; it is still
spacious, sprawling, and majestic. Experience the freedom and serenity still to be
found in ---—------- .

Q: In 1970, Shaheen Inn earned Rs. 10 million in hotel business. By 1990, revenue
doubled and in 2000, it reached the sum of Rs. 40 million. Each of the following, if
true, may explain the trend in hotel business except:

Follow us to the real Pakistan leaving behind the disturbances of civilization. Real
Pakistan is still inhabited by the eagle, the cow, the black deer, and tigers; it is still
spacious, sprawling, and majestic. Experience the freedom and serenity still to be
found in ---—------- .

Q: The above paragraph is most likely to appear in which of the following?

Follow us to the real Pakistan leaving behind the disturbances of civilization. Real
Pakistan is still inhabited by the eagle, the cow, the black deer, and tigers; it is still
spacious, sprawling, and majestic. Experience the freedom and serenity still to be
found in ---—-----—--- .

Q: Choose the best option to complete the above statement:

One’s ability to adjust in an environment successfully leads to happiness. War ata
universal level destroys the weaker people, who are the most unable to adjust to their
environment. Thus, war at the universal level puts weakling out of their misery and
allows more space for their predators to enjoy life in a better manner. As those
actions have to be performed, which maximize the level of happiness of the greatest
number, war at a universal level should take place.

Q: f Rubina was born in KPK, then she is a citizen of Pakistan, The statement above
can be deduced from which of the following statement?

One’s ability to adjust in an environment successfully leads to happiness. War at a
universal level destroys the weaker people, who are the most unable to adjust to their
environment. Thus, war at the universal level puts weakling out of their misery and
allows more space for their predators to enjoy life in a better manner. As those
actions have to be performed, which maximize the level of happiness of the greatest
number, war at a universal level should take place.

Q: What response would the author of the above discussion come up with, in the
case of the objection that the weaklings far exceed strong people?

I He would respond with statement that the person making the objectionis a
weakling.

I He would respond by saying that weakings will be miserable no matter what

Answers Choice

A. Extend his support to me

C. Stop lying to the public
D. Hand in his resignation graciously
E. Get our city more federal aid

A. The number of total hotel rooms
has increased.

C. The number of customers has
increased from 1970 to 1990.

D. Average stay per customer has
increased.

E. The average price of customer
services has increased.

B. Exploring the Great Outdoors
C. The Quiet Beauty of Harappa
D. how the Eagle Became Extinct
E. Returning to Pakistan

B. The fascinating urban centers
C. The wild terrain of NWFP

D. One's own subconscious

E. The great sprawling cities of the
upper Pakistan

A. Every citizen of the Pakistan is
resident either of one of the province
or of one of the tribal area.

B. Rubina was born either in KPK or
in Sindh.

C. Some people born in KPK are
citizens of Pakistan.

D. Everyone born in Pakistan is a
citizen of Pakistan.

A. lonly

B. llonly

C. llonly

D. land Il only
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nappens.

lI- He would respond with statement that the strong would be frustrated if the
weaklings are destroyed.

One’s ability to adjust in an environment successfully leads to happiness. War at a

universal level destroys the weaker people, who are the most unable to adjust to their

environment. Thus, war at the universal level puts weakling out of their misery and
allows more space for their predators to enjoy life in a better manner. As those

actions have to be performed, which maximize the level of happiness of the greatest

number, war at a universal level should take place.

Q: The author's discussion would be greatly weakened, if he agreed to which of the
following?

I Technology could change the environment.
I War at the universal level would be an integral part of the environment.

lI- it is possible for the strong to survive without suppressing the weak.

Inanin vitro study, 160 white cars were injected with Salt X. 160 other white cats
injected with placebo. In two weeks, 39% of the white cats, who were injected with
Salt X showed symptoms of Kay fever. Hence, it can be concluded that Kay fever is
caused by some elements similar to the elements in Salt X.

Q: Wall chalking on public property should be outlawed. Radicals and fanatics have
no right to use public property when promoting their unsavory views. The argument
above is based on the idea

Inanin vitro study, 160 white cars were injected with Salt X. 160 other white cats
injected with placebo. In two weeks, 39% of the white cats, who were injected with
Salt X showed symptoms of Kay fever. Hence, it can be concluded that Kay fever is
caused by some elements similar to the elements in Salt X.

Q: Which of the following would most strengthen the argument above?

Inanin vitro study, 160 white cars were injected with Salt X. 160 other white cats
injected with placebo. In two weeks, 39% of the white cats, who were injected with
Salt X showed symptoms of Kay fever. Hence, it can be concluded that Kay fever is
caused by some elements similar to the elements in Salt X.

Q: Which of the following statements would most seriously weaken the above
discussion?

B. Il only

C. lironly

D. land lll only
E. I, lland Il only

A. The general public has an interest
in the free exchange of different
political views.

C. Radicals and fanatics prefer the
use of public property while
propagating their viewpoint.

D. Legal constraints should be equal
for all.

E. Any promotional activity, which is
against public interest, should be
protected by law.

A. Some of the elements in Salt X are
extracted from the root of a certain
poisonous herb of Hunza.

C. Almost all the white cats died
within two days after the first
symptom appeared.

D. Normally the rate of Kay fever
among white cats is less than 0.01%.
E. Within two weeks, about 40% of
the white cats, who were injected with
placebo, also contracted Kay fever.

A. People suffering from Kay fever
are the victims of the golden viper of
Sindh.

C. The natural habitats of white cats
does not contain any of the elements
found in Salt X

D. The 160 white cats used in the
experiment were kept isolated from
each other.

E. The scientists administered the
injections being ignorant of the
contents of the salt used.



